Shroud Covers - After 2/29/00

Located here on 3/1/00, screw part #
,(1070588) was removed.
/

x\/
~ \\\
AN
RN
AR
O\
\. . \\\

Le/ft side frame
reference only.

(
A

NOTE: When converting an integrated sling seat to
accomodate shrouds, order (1070573) charger
connectorftrunk stop bracket and attaching bolt
(1045267).



Shroud Covers - After 2/29/00

ltem #'s 1-5 Shroud Covers After 2/29/00

Item Description Ocean Emerald Liquid i?)?)?g
Number Blue Green Black
Red
Side Panel 1102266-NLA | 1102267-NLA | 1102265-NLA | 1102264-NLA
1 (Captain)
- Right See Note(s) D, A, B [ See Note(s) D, B, A | See Note(s) A,B,D | See Note(s)A,D,B
Side Panel 1102270-NLA | 1102271-NLA | 1102269-NLA | 1102268-NLA
1 (Captain)
- Left See Note(s) A, D, B [ See Note(s) D, A, B | See Note(s) B, A,D | See Note(s) D, A, B
Side Panel (Sling
1 Seat) 1102274-NLA 1102275-NLA 1102273-NLA 1102272-NLA
Right
See Note(s) B See Note(s) A, B, D [ See Note(s) A, B,D | See Note(s) A,B,D | See Note(s) A, B, D
1 Side P;‘g% (SINg |1 100278-NLA | 1102279-NLA | 1102277-NLA | 1102276-NLA
Left See Note(s) A, B,D | See Note(s) A,B,D | See Note(s) A,B,D [ See Note(s) A, B,D
> Battery Cover 1094737-NLA 1094738-NLA 1094736-NLA 1094735-NLA
- 16" Wide See Note(s) C See Note(s) C See Note(s) C See Note(s) C
> Battery Cover 1094733-NLA 1094734-NLA 1094732-NLA 1094731-NLA
- 18" Wide See Note(s) C See Note(s) C See Note(s) C See Note(s) C
> Battery Cover 1094729-NLA 1094730-NLA 1094728-NLA 1094727-NLA
- 20" Wide See Note(s) C See Note(s) C See Note(s) C See Note(s) C
3 Trunk Lid 1102262-NLA 1102263-NLA 1102261-NLA 1102260-NLA
- 16" Wide See Note(s) B, C See Note(s) B, C See Note(s) B, C See Note(s) B, C
3 Trunk Lid 1102258-NLA 1102259-NLA 1102257-NLA 1102256-NLA
- 18" Wide See Note(s) B, C See Note(s) C, B See Note(s) C, B See Note(s) B, C
3 Trunk Lid 1102254-NLA 1102255-NLA 1102253-NLA 1102252-NLA
- 20" Wide See Note(s) C, B See Note(s) C, B See Note(s) C, B See Note(s) B, C
Rear Storage | 57056 NLA | 1070562-NLA | 1070562-NLA | 1070562-NLA
4 Compartment
- 16" Wide See Note(s) C See Note(s) C See Note(s) C See Note(s) C
Rear Storage | 1570561-NLA | 1070561-NLA | 1070561-NLA | 1070561-NLA
4 Compartment
- 18" Wide See Note(s) C See Note(s) C See Note(s) C See Note(s) C
Rear Storage | 1,70560-NLA | 1070560-NLA | 1070560-NLA | 1070560-NLA
4 Compartment
- 20" Wide See Note(s) C See Note(s) C See Note(s) C See Note(s) C
Rear Storage
5 Compartment, 1071655-NLA 1071655-NLA 1071655-NLA 1071655-NLA
Shelf-Black

NOTE:

- Decals not included. See page titled, "Packaging, Literature and Decals."

- Dual lock fasteners and spacers are not included with shrouds. See item 20.

A
B
C - Captain seat shrouds on 18" wide only.
D

- Side Panel includes Rubber Bushing.




Shroud Covers - After 2/29/00

Color Conversion Package, Captain Seat

Ocean Blue

Emerald Green

Liquid Black

Candy Apple Red

1096875-NLA

1096876-NLA
See Note(s) A, C, B

1096874-NLA
See Note(s) A, B, C

1096873-NLA
See Note(s) B, A, C

See Note(s) A, B, C

NOTE:
B - Not Shown.

A - Decals not included. See page titled, "Packaging, Literature and Decals."

C - Includes items 1,3,8,9,10,11,12 and 13.

Color Conversion Package, Sling Seat

Width

Ocean Blue

Emerald Green

Liquid Black

Candy Apple Red

16" Wide

1096883-NLA
See Note(s) C, B, A

1096884-NLA
See Note(s) B, C, A

1096882-NLA
See Note(s) A, B, C

1096881-NLA
See Note(s) B, C, A

18" Wide

1096879-NLA
See Note(s) A, B, C

1096880-NLA
See Note(s) B, C, A

1096878-NLA
See Note(s) C, B, A

1096877-NLA
See Note(s) C, B, A

20" Wide

1096887-NLA
See Note(s) C, B, A

1096888-NLA

See Note(s) A, B, C

1096886-NLA

See Note(s) C, A, B

1096885-NLA
See Note(s) C, A, B

NOTE:
B - Not Shown.

C - Includes items 1, 3, 8, 9, 10, 11, 12 and 13.

A - Decals not included. See page titled, "Packaging, Literature and Decals."




Shroud Covers - After 2/29/00

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1-5 See Chart Item #'s 1-5 Shroud Covers After 2/29/00 1 1
B See Chart Color Conversion Package, Captain Seat 1 1
B See Chart Color Conversion Package, Sling Seat 1 1
6 1070565-NLA | NLA - Bracket, Shroud, Black - Right 1 1
6 1070566-NLA | NLA - Bracket, Shroud, Black - Left 1 1
7 1045267 Screw, Hex Head w/ Patch (1/4-20 x 3/4") 1 4
8 1028516 Washer, Steel (3/16 x 7/16 x 1/16") 1 2
9 7930332-NLA | NLA - Locknut, High Profile (#10-32) 25 1
10 1070575-NLA | NLA - Screw, SEMS w/ Washer (#10-32 x 7/8") 1 2
11 1070588-NLA | NLA - Screw, Phillips Truss Head (#10-32 x 1/2") 1 6
12 1028755 Screw, Phillips Pan Head (#10-32 x 5/8") 1 4
13 1070587 Washer, Flat (3/16 x 5/8 x 1/16") 1 4
B,C 1070564-NLA | NLA - Hardware, Side Panel Attaching 1 1
14 1070577-NLA | NLA - Plate, Trunk Clip 1 2
15 1070583-NLA | NLA - Stud, Wing Head (3/4" Long) 1 2
16 1070581-NLA | NLA - Washer, Nylon Cupped (9/32 x 19/32 x 3/32") 1 4
17 1070580-NLA | NLA - Washer, Nylon Retainer (1/4 x 1/2 x 1/32") 1 4
18 1013497-NLA | NLA - Fastener, Turn, Clip-On (1/4") 1 4
19 1070574-NLA | NLA - Stud, Wing Head (1" Long) 1 2
20 A 1097290 Kit, Dual Lock Fastener/ Spacer 1 1
21 1070594-NLA | NLA - Bushing, Rubber 1 2
22 1070563-NLA | NLA - Plate, Trunk 1 2
23 1070582-NLA | NLA - Rivet 1 4
24 1062096-NLA | NLA - Fastener, Loop (1/2" W x 1" L) 1 4
B 1102292-NLA | NLA - Instruction Sheet, Dual Lock Fastener/ 1 1
Spacer Kit

NOTE: A -Kitincludes 2 ea. dual lock fasteners (5/8" W x 2" L) and (1" W x 2" L), 4 ea. dual lock spacers and instruction sheet.
B - Not Shown.
C - Includes items 6-13.




